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Subject Correspondence Clerk and Store Assistant

Section : General Knowledge

Q.1 Which of the following kingdoms was divided into four administrative units called

‘Taraf’ or provinces?
Ans x 1. Gurjara - Pratihara
« 2. Bahamani
« 3. Pala

x 4. Vijayanagara

0.2 In which state is the Keoladeo National Park located?
Ans x 1. Tamil Nadu

x 2. Arunachal Pradesh

« 3. Rajasthan

» 4. Nagaland

Q.3 Which of the following international events was celebrated on 3 March 2024?
Ans x 1. World Water Day

« 2. World Wildlife Day

x 3. World Elderly Day

x 4. World Happiness Day

Q.4 Which of the following Biosphere Reserves is located in Andhra Pradesh?
Ans x 1. Manas

x 2. Similipal

« 3. Seshachalam

« 4. Nanda Devi
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Q.5 InJune 2024, Prime Minister Narendra Modi visited Italy to participate in which annual

summit?

Ans x1.G23

% 2. UNSC Meet
x 3.COP
v4.G7
Q.6 Which ministry launched the Aadhaar Good Governance portal to streamline the
approval process for Aadhaar authentication requests?
Ans  x 1. Ministry of Home Affairs
* 2. Ministry of Health and Family Welfare
x 3. Ministry of Finance
« 4. Ministry of Electronics and Information Technology (MeitY)
Q.7 According to the Supreme Court judgment, inclusive and meaningful digital access to
e-governance and welfare delivery systems is a part of which Fundamental Right?
Ans 1. Right to Life and Liberty
% 2. Right to Freedom of Speech
3. Right to Equality

x 4. Right to Education

Q.8 What is the population density of India, as per the 2011 Census?
Ans  x 1.582 persons per km?

x 2. 282 persons per km?

« 3- 382 persons per kn?

x 4. 482 persons per km?

Q.9 Which of the following geosynclines resulted in the folded Himalayas?
Ans 1. Tethys geosyncline

x 2. Atlas geosyncline

x 3. Appalachian geosyncline

4. Caledonian geosyncline
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Q.10 Who among the following formed the Swaraj Party with Chittaranjan Das?
Ans 1. Bhimrao Ambedkar

x 2. Jawaharlal Nehru

« 3. Mahatma Gandhi

« 4. Motilal Nehru

Q.11 The Constitution of the parliament is mentioned in which of the following Articles of

the Indian Constitution?
Ans x 1. Article 75
x 2. Article 73
x 3. Article 77

¢ 4. Article 79

Q.12 Motilal Nehru was elected as the secretary of the Swaraj Party in
Ans  x1.1926

v 2.1923

x 3.1924

x 4.1925

Q.13 Which of the following is NOT a Fundamental Duty mentioned in the Constitution of
India?

Ans x 1. To value and preserve the rich heritage of our composite culture
x 2. To defend the country and render national service when called upon to do
« 3. To safeguard earned property by citizen with the use of violence

» 4. To uphold and protect the sovereignty, unity and integrity of India

Q.14 Which of the given pairs with respect to the Rashtriya Vigyan Puraskar 2024 is/are

correctly matched?

1. Vigyan Ratna (VR) Award: This is the highest honor, awarded for lifetime
achievements in any field of science and technology
2. Vigyan Shri (VS) Award: Recognises distinguished contributions in any field of
science and technology
3. Vigyan Yuva-Shanti Swarup Bhatnagar (VY-SSB) Award: Honours young scientists who
have made exceptional contributions in science and technology

Ans »1.1,2and3
% 2.0nly Tand 3
% 3.0nly 1

x 4.0nly 2and 3
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Q.15 Which of the following leaders established the Poona Sarvajanik Sabha?
Ans x 1.)yotirao Phule and Savitri Bai Phule

x 2. Lala Lajpat Rai and Bal Gangadhar Tilak

» 3. Dando Keshav Karve and Vinayak Damodar Savarkar

« 4. GV Joshi, SH Sathe, and SH Chiplonkar

Q.16 Who among the following rulers of the Sultanate of Delhi implemented the market

control system?
Ans x 1. Mohammad Bin Tughlaq
x 2. lltutmish
« 3. Alauddin Khilji
¥ 4. Balban
Q.17 Who among the following received the Lifetime Achievement Award at the National
Sports Awards 20257
Ans x 1. PV Sindhu, Olympic medal-winning badminton player
* 2. Mary Kom, multiple-time world boxing champion
« 3. Murlikant Rajaram Petkar, India’s first paralympic gold-medallist in swimming
x 4. Neeraj Chopra, Olympic gold-medallist in javelin throw
Q.18 Which of the following districts of India recorded the highest population growth rate,
as per the 2011 census of India?
Ans x 1. Mon
x 2. Kurung Kumey
« 3. Kohima
x 4. Yanam
Q.19 Who among the following succeeded M A Ayyangar as Speaker of the Lok Sabha in
19627
Ans  x 1. Shivraj Patil
« 2. Sardar Hukam Singh
» 3. Bali Ram Bhagat

x 4. Neelam Sanjiva Reddy
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Q.20 According to Rule 8 of the Presidential and Vice-Presidential Elections Rules, 1974,

where are the polls for the election of the Vice-President of India conducted?
Ans 1. Parliament House
« 2. Election Commission Headquarters
» 3. Rashtrapati Bhavan

x 4. Supreme Court of India

Section : Logical Reasoning

Q.21 Seven boxes, A, B, C, D, E, F and K, are kept one over the other but not necessarily in the
same order. Only C is kept above F. Only K is kept between F and E. Only D is kept below

A. How many boxes are kept between B and C?
Ans x1.Two
X 2. Zero
# 3.0ne
« 4. Three

Q.22 If '+' means '-', '-' means 'x', 'x' means '+', and '+' means '+', then what will come in place

of the question mark (?) in the following equation?

212 +86x2-5+34=7
Ans x1.32
x2.33
v 3.3
x 4.30
Q.23 Each vowel in the word 'COMPLEX' is changed to the letter immediately following it in
the English alphabetical order and each consonant is changed to the letter immediately

preceding it in the English alphabetical order. How many letters appears more than

once in the group of letters formed?
Ans x1.Two
« 2. Zero
x 3.0ne

* 4. Three
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Q.24 AD 17 is related to Fl 12 in a certain way. In the same way, PS 26 is related to UX 21. To

which of the following is BE 33 related, following the same logic?

Ans x 1.HJ28

«2.GJ) 28

»x3.FH 27

x4.Fl 27
Q.25 Inacertain code language,

P - Q means 'P is the wife of Q',

P+ Q means ‘P is the husband of Q’,

Px Q means Pis son of Q'

P+ Q means ‘P is the daughter of Q.

Based on the above, If H - I x J + K+G, then how is J related to H?
Ans 1. Husband’s father

X 2. Husband’s mother

X 3. Father

% 4. Mother

Q.26 What should come in place of the question mark (?) in the given series?

223 228 238 253 ?
Ans  x 1 27
v2. 273
x 3. 270
x4 2m
Q.27 TU 16 is related to WT 2 in a certain way. In the same way, HT 20 is related to KS 6. To
which of the given options is Bl 8 related, following the same logic?
Ans 1. EH-6
x 2.DH -6
x3.DI-8

x 4.EI-8
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Q.28 Based on the English alphabetical order, three of the following four letter-clusters are
alike in a certain way and thus form a group. Which letter-cluster DOES NOT belong to
that group?

(Note: The odd one out is not based on the number of consonants/vowels or their

position in the letter-cluster.)
Ans x 1. QML
v 2. FCA
x 3. HDC
x 4. LHG
Q.29 If 2 is added to each odd digit and 3 is subtracted from each even digit in the number
4537861, and then arranged in ascending order from left to right, what will be the sum

of the digits which are third from the left and second from the right of the new

number thus formed?
Ans 110

x2.12

x3.14

x4.16

Q.30 What should come in place of the question mark (?) in the given series?

34 70 130 166 226 ?
Ans  x 1. 264
X 2. 260
v 3. 262

x4 272
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Q.31 In the following number-pairs, the second number is obtained by applying certain

Ans

Q.32

0.33

Ans

mathematical operations to the first number. Which numbers should replace X and Y, so
that the pattern followed by the two numbers on the left side of :: is same as that on

the right side of :: ?

(NOTE: Operations should be performed on the whole numbers, without breaking down
the numbers into their constituent digits. E.g. 13 — Operations on 13 such as
adding/subtracting/multiplying to 13 can be performed. Breaking down 13 into 1 and 3

and then performing mathematical operations on 1 and 3 is not allowed.)

X:409::64:Y

x1.X=82,Y=316
& 2.X=82,Y=319
x3.X=83,Y=367
x4.X=84,Y=366

Select the option figure that will replace the question mark (?) in the figure given below

to complete the pattern.

?

N

Sethy ranked 26th from the top and 73d from the bottom in his class. How many
students are there in the class?

»x 1.100

x2.99

= 3.97

v 4.98
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Q.34 Based on the English alphabetical order, three of the following four letter-cluster pairs
are alike in a certain way and thus form a group. Which letter-cluster pair DOES NOT
belong to that group?

(Note: The odd one out is not based on the number of consonants/vowels or their

position in the letter-cluster.)
Ans x1.LP-OS
x 2. NR-QU
¢ 3. JM-LO
x 4. EI-HL

0.35 If ‘A’ stands for ‘+’, ‘B’ stands for ‘—’, ‘C’ stands for ‘=’ and ‘D’ stands for ‘x’, then what will

come in place of the question mark (?) in the following equation?

19D2A5B3C1=?
Ans x1.60
x2.5
x 3.65
v 4.40
Q.36 Refer to the given letter series and answer the question that follows. Counting to be
done from left to right only.
(Left)y NGAAMKBIQOVUMCKIULOO N ] (Right)

How many such vowels are there each of which is immediately preceded by a consonant

and also immediately followed by a vowel?
Ans x 1. Four
x 2. Five
« 3. Three
x 4. Seven
Q.37 Refer to the given letter series and answer the question that follows. Counting to be
done from left to right only.
(Lefty BFUIEBDEKBTOHPTOUPXOY X (Right)

How many such consonants are there each of which is immediately preceded by a

consonant and also immediately followed by a consonant?
Ans x 1.Three
x 2.0ne
x 3. Four

« 4. Two
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Q.38 Two sets of numbers are given below. In each set of numbers, certain mathematical
operation(s) on the first number results in the second number. Similarly, certain
mathematical operation(s) on the second number results in the third number and so
on. Which of the given options follows the same set of operations as in the given sets?
(NOTE: Operations should be performed on the whole numbers, without breaking down
the numbers into their constituent digits. E.g. 13 — Operations on 13 such as adding /
subtracting / multiplying to 13 can be performed. Breaking down 13 into 1 and 3 and

then performing mathematical operations on 1 and 3 is not allowed.)

9-18-28-56; 12-24-34-68
Ans  x 1.8-16-25-50
x 2.14-28-38-86
o 3. 13-26-36-72
x 4.16-32-52-104
Q.39 Which of the following letter-clusters should replace # and % so that the pattern and

relationship followed between the letter-cluster pair on the left side of :: is the same as
that on the right side of ::?

#: GKU :: BMP : %
Ans 1. #=FT,%=CNO
x 2. #=EIT, % =COQ
x 3. #=EIS, % = DNR
x 4. #=F)S, % =DNQ
Q.40 Refer to the given letter series and answer the question that follows. Counting to be

done from left to right only.
(Left) K AURANJIANNOBITADORAEMNOCH (Right)

If all the consonants are dropped from the series, which letter will be third from the
right?
Ans x 1.1
x2.E
v3.A

x4.0

Section : General English and Comprehension
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Q.41 Select the most appropriate option to fill in the blank.

The old library was filled with books and ancient manuscripts that fascinated

historians.
Ans 1. bland
x 2. vivid
« 3. modest

« 4. musty

Q.42 Select the most appropriate meaning of the given idiom.
Up to (doing) something
Ans x 1. Intentionally delaying a responsibility
x 2. Losing interest in an activity halfway through
« 3. Being good enough or capable of doing something

x 4. Completely refusing to participate in any activity

Q.43 Select the most appropriate option to fill in the blank.

The artist created _ masterpiece.
Ans 1. a truly unique
% 2.a completely unique
x 3.avery absolutely unique

x 4. avery unique

Q.44 Select the option that has nearly the same meaning as the underlined group of words.

Although she sees Al's potential to make people's lives easier, Mayer acknowledges
there are challenges ahead, particularly when it comes to authoritative rule dealing
with details or procedure, consumer trust and ethical oversight of emerging

technologies.
Ans x 1. meditation
x 2. reflection
« 3. regulation

x 4. perusal



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Q.45 Select the most appropriate ANTONYM of the given word.

Atavism
Ans 1. Evolution
X 2. Regression
x 3. Ancestry

* 4. Tradition

Comprehension:

Read the given passage and answer the questions that follow.

The United States (US) experiences the most tornadoes of any country in the world: More than
1,000 per year have been reported every year since 1990 in the US. This high count of twisters
results primarily from the country’s topography, which features a large central core with
relatively flat terrain. The region made up of the Great Plains and Mississippi River valley accounts
for nearly one-third of the country’s area, and this vast expanse of grasslands and croplands can
heat up quickly most times of the year, creating pockets of rising warm air. This region also has
access to moisture from the Gulf of Mexico—and moisture released by the region's vegetation,
especially during the hottest days—and cooler air from the Upper Great Plains and Canada. All
these factors contribute to the development of frequent outbreaks of severe thunderstorms,

many of which can spawn tornadoes.
SubQuestion No : 46
Q.46 Which of the following facts is NOT mentioned in the passage?
Ans x 1.One-third of the US consists of the Great Plains and Mississippi River valley.
% 2. The US has reported more than 1,000 tornadoes annually since 1990.
« 3. Tornadoes in the US cause billions of dollars in damage annually.

x 4. Moisture from the Gulf of Mexico contributes to tornado formation.
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Comprehension:

Read the given passage and answer the questions that follow.

The United States (US) experiences the most tornadoes of any country in the world: More than
1,000 per year have been reported every year since 1990 in the US. This high count of twisters
results primarily from the country’s topography, which features a large central core with
relatively flat terrain. The region made up of the Great Plains and Mississippi River valley accounts
for nearly one-third of the country’s area, and this vast expanse of grasslands and croplands can
heat up quickly most times of the year, creating pockets of rising warm air. This region also has
access to moisture from the Gulf of Mexico—and moisture released by the region's vegetation,
especially during the hottest days—and cooler air from the Upper Great Plains and Canada. All
these factors contribute to the development of frequent outbreaks of severe thunderstorms,

many of which can spawn tornadoes.

SubQuestion No : 47
Q.47 Which of the following best summarises the passage?

Ans x 1. Tornadoes are devastating weather events that cause significant damage across the US,

particularly in the Great Plains region where they occur most frequently.

» 2. Scientists have been tracking tornadoes in the US since 1990, developing sophisticated
methods to predict their occurrence and warn populations in the Great Plains and Mississippi
River valley.

» 3. Climate change has contributed to an increase in tornado frequency in the US, with

particular impact on the agricultural regions of the Great Plains.

« 4. The US experiences more tornadoes than any other country due to/its unique combination
of flat terrain, temperature variations and moisture sources that create ideal conditions for

tornado formation.
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Comprehension:

Read the given passage and answer the questions that follow.

The United States (US) experiences the most tornadoes of any country in the world: More than
1,000 per year have been reported every year since 1990 in the US. This high count of twisters
results primarily from the country’s topography, which features a large central core with
relatively flat terrain. The region made up of the Great Plains and Mississippi River valley accounts
for nearly one-third of the country’s area, and this vast expanse of grasslands and croplands can
heat up quickly most times of the year, creating pockets of rising warm air. This region also has
access to moisture from the Gulf of Mexico—and moisture released by the region's vegetation,
especially during the hottest days—and cooler air from the Upper Great Plains and Canada. All
these factors contribute to the development of frequent outbreaks of severe thunderstorms,

many of which can spawn tornadoes.
SubQuestion No : 48
Q.48 Which of the following best describes the organisational structure of the passage?
Ans x 1.Compare and contrast of different weather phenomena
« 2. General statement followed by supporting explanations
« 3. Problem-solution analysis of tornado prevention

x 4. Chronological description of tornado development
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Comprehension:

Read the given passage and answer the questions that follow.

The United States (US) experiences the most tornadoes of any country in the world: More than
1,000 per year have been reported every year since 1990 in the US. This high count of twisters
results primarily from the country’s topography, which features a large central core with
relatively flat terrain. The region made up of the Great Plains and Mississippi River valley accounts
for nearly one-third of the country’s area, and this vast expanse of grasslands and croplands can
heat up quickly most times of the year, creating pockets of rising warm air. This region also has
access to moisture from the Gulf of Mexico—and moisture released by the region's vegetation,
especially during the hottest days—and cooler air from the Upper Great Plains and Canada. All
these factors contribute to the development of frequent outbreaks of severe thunderstorms,

many of which can spawn tornadoes.

SubQuestion No : 49

Q.49 Select the most appropriate ANTONYM of the word 'flat' from the sentence 'This high
count of twisters results primarily from the country's topography, which features a

large central core with relatively flat terrain' based on the context of the passage.
Ans 1. Mountainous
x 2. Horizontal
x 3. Level

x 4.Smooth
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Comprehension:

Read the given passage and answer the questions that follow.

The United States (US) experiences the most tornadoes of any country in the world: More than
1,000 per year have been reported every year since 1990 in the US. This high count of twisters
results primarily from the country’s topography, which features a large central core with
relatively flat terrain. The region made up of the Great Plains and Mississippi River valley accounts
for nearly one-third of the country’s area, and this vast expanse of grasslands and croplands can
heat up quickly most times of the year, creating pockets of rising warm air. This region also has
access to moisture from the Gulf of Mexico—and moisture released by the region's vegetation,
especially during the hottest days—and cooler air from the Upper Great Plains and Canada. All
these factors contribute to the development of frequent outbreaks of severe thunderstorms,
many of which can spawn tornadoes.
SubQuestion No : 50

Q.50 What is the central theme of the passage?

Ans x 1. The historical increase in tornado frequency since 1990

% 2. The environmental impact of tornadoes on American agriculture

% 3. The methods of predicting and tracking tornado movements

« 4. The geographical and meteorological factors that contribute to tornado formation in the
us

Q.51 "310rT 1T geraR &7 37¢f &-

Ans x 1. 98

v 2. 9gd I g

x 3. ga e

x 4. gl 1
Q.52 Fufaf&d faeeul & A3dR &1 [Aeln A< ggar|
Ans  x 1.3dqr

@ 2. 90d

x3 R

X 4. A
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0.53 fAyferflad faseul § & AbIfte & T 31ef &1 9I7 B3|
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Ans 1. TTER T JIRI AR AT &
x 2. 3194 &I 9R Pl
x 3. IR B dvE &l
X 4. 39 &R U Pl grad-T

Q.54 FHfAf&d arq &1 3fAd aRATvEIes fadvor grRT gof &3

I 31T 34T &, 39 §fe all

Ans ;(1.65‘5F

Q.55 "UTdFE &l faelln oI=g aIoT-
Ans 1.3

x 2.31d

x 3. QU

x 4. feq

Comprehension:

2 TEier I TER U IB IV Y4 & 3R A0

TS BT 7 9&a Mfaefiet Ygar 81 0w 8 & 35 fariel orfesalt 39 319+ 3R iach &1 st igmr #a Y

o gAY 3197 B FoTecl I Wl el 3% Febd 3R 3 &RT P 1Y 98 37T & d Bl 3897 DI I
& B AP | 3% AU A1 I Pe A1RC [ I NI 8 U IS & FHIA &1 7 BT 37ave df Joff B
gded! 813 fts I vd uRfRIfY & Iust o €, 3 Hoft et 78 357 I a 3R Bfearsdl & dr N oft
3791 IR WisT FABTerd 81 BRUT SR 3 39 fadet 3R gird goma I off S &1 99d $Rd &1 Afee, 0
Tt T off Tvear AP, Sl 379 FAG e I A @ STd & 3R U0 B9 &R 96d 8, S 3% Lnifer siraq
3790 T a9 gt STra 1

SubQuestion No : 56
Q.56 U¥d Merier F rfefter g &1 AL § -
Ans x 1.3/
x 2. @R
x 3. TR

v 4. 39
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Comprehension:

S STEi<r & LR R Y8 IV Y4 & 3R IS0

T BT 7 Tea Mfaefia gdT &1 O 8l & o faRvelt orfealt 3 3197 3tk gl &1 s gy s Y

o gAY & 3197 B ATl I WeT 72 3% Wobd 3R 39 &RT P 1Y 98 37T & d Ul 3897 B I
T B AP | I AU A1 I Pe1 AU [ 3 NI 8 gU IS & FHIF &1 7 BT 37a92 ol Joff
geredl g1 s Afth 9 Ud aRRATT &Y IHeST oid €, 3 St &l 781 331 Wb 3R Sl & 7 H off
39T AT WIST FABTA &1 PIRUT SMBR d 3P AT 3R gRrd gora I off 99 &1 9Id B &1 dfeb, T
AT BT ot e e h, S 397 H-gen & 3R & 57 & 3R OF 17 R 9o ¢, 59 39 rifawa shia 7
37e1ifer &7 Ay gt Trar &1

SubQuestion No : 57
Q.57 U¥d A & fore 3ugw M I -
Ans  x 1. 996 Huifa
@ 2. B BT a1
x 3. 79 I graen
X 4. 79 T 7ferdr

Comprehension:

2 e b AR TR I8 70 G4l & 3R IS0 :

TS BT A &a Mfaefict Ygar 81 0w 8 & 35 faRvelt erfesalt 39 39+ 3R Hiach &1 s igmr #A Y
faqRTd gRRRATIA & 3197 B HaTgl I WeT A&l 3@ Fbd 3R 39 &RT b WY §8 371d & d Pl 389 BT G
& B AP | 3P AU A1 I Pe AfRC [ I NI @ U IS & FHI &1 7 BT 37392 df Joff B
getedt &1 3 @Ifth wHg v aRFRRATY 31 wmeT aid €, 3 Boft e A2 331 I 3R FHforeat & drg 7 off
39T AT WIST BT &1 BRUT bR d 39 b [ATel 3R g gd1d A off 9= BT 9Id Hd & cifeb, 0
Tt T off et AP, Sl 379 BAIGRN I 3% & STd & 3R 0N B0 &R 96d 8, 51 374 2nifer sirad
371 BT Y gt sTrar 81

SubQuestion No : 58
Q.58 Udd ey HI WF & -
Ans x 1. SIAIEIEE
v 2. faTrs
X 3. UdlbIcHD

x 4. fARuTHAS
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Comprehension:

S STEQT & TR R Y8 TV Y4 & 3R IS0

T BT 7 Tea Mfaefia JgdT &1 O 8l & o faRvelt erfealt 3 3197 3tk gl &1 s gy s Y

o gAY 3197 B ATl I WeT A2 3% Wobd 3R 39 &RT P 1Y 98 7T & d Bl 3897 B I
& B TBN| 3P U A I8 B a1eC [P I SHAd ¥8d §C S & WA &1 7 P 37ave ot Joft I
geIedl ¢l 3 Ffth 9 Ud aRRATT &Y qHeT oid €, 3 St &l 81 331 Wb 3R Sl & 7 H off
39T AT WIS FBTeAd 1 PRUT SR J 39 Al 3R gRrd 991a A off =97 1 93d B4 1 Afeb, 0
Tt e off Tvear AP, Sl 379t HAGen & 3% 8 S7d & 3R U0 B9 BR 96d 8, 51 3% 2nifers sitad §
37e1ifer &1 Ay gt e g1

SubQuestion No : 59
Q.59 URdd el BT H-LIT W & -
Ans x 1. 99 &I IIdr &I =01

X 2. A% HAIGLN & =0T

x 3. 59 FagR &I faern

@ 4. 3120d & PR &l faarur

Comprehension:

2 e b AR TR I8 70 9l & 3R IS0 :
TS BT 7 &a Mfaefict Ygar &1 0w 8l & 35 faRvelt erfesalt 33 39+ 3R Hiach &1 S igmy #A Y
fIoRTa TR R & 3199 BT AoTgl I WaT 78! 39 Wb d 3R 3 ¢RI P A1 T8 311d ¢ I B 3897 B [}
& B AP | 3P AU A1 I Pe1 AfRC [ I NI @ U IS & FHIF &1 7 BT 37392 df Joff B
geled! g1 St Ffth THg vd aRRAT PY qHeT oid €, 3 Foft &l 8l 331 Jobd 3R HfSA1eal & g H off
39T IRAT WS BT &1 BRUN STBR d 3T v 3R i gurd F of S &1 9Id Hd &1 Afeb, 0
Tt e off et AP, S 379 BAIGRN I 3% & S7d & 3R 0 B9 &R 96d 8, 51 3% 2nifery sirad i
3190 T W et sTrar 1°
SubQuestion No : 60

0.60 Udd el ¥ 'RAY gof STl &' He BT 7 & -

Ans x 1.398qd &
« 2. a91E 3= & ST
x 3. faRier
x 4. ufauef g

Section : Basic Knowledge of Computer
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Q.61 Formatting Paragraphs in MS Word 2019 means:

Ans x 1. Remove Formatting, Add subscript and superscript, Add bullet and numbered lists, Indent a

paragraph, Align the text only

« 2. Remove Formatting, Add subscript and superscript, Add bullet and numbered lists, Indent a

paragraph, Align the text, Line spacing, Insert or remove tabs

x 3. Remove Formatting, Add subscript and superscript, Add bullet and numbered lists, Indent a
paragraph only

% 4. Remove Formatting, Add subscript and superscript, Add bullet and numbered lists only

Q.62 Which of the following options in MS Word is used to change the orientation of the

entire document from portrait to landscape?
Ans x 1. Breaks
x 2. Margins
3. Columns

« 4. Orientation

Q.63 Which of the following is NOT a way to secure a smartphone from cyber hacking?
Ans 1. Put the phonein a box and lock the box

x 2. Put a pattern lock

» 3. Put a password

X 4.Putapin

Q.64 In MS Excel, how can a user create a series of numbers that increases by 5 each time?
Ans 1. Type 5,10, 15 in three cells and drag the fill handle

% 2.Type 1,2, 3 in three cells and then drag the fill handle

« 3. Type 5,10, 20 and drag the fill handle

x 4. Type 5 and drag the fill handle

Q.65 In MS Word, which of the following options in the 'Paragraph’ group allows a user to
align text to both the left and right margins?

Ans 1. Justify
% 2. Center Align
x 3. Left Align

x 4. Right Align
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Q.66 What is the purpose of a web browser's 'Incognito’ or 'Private Browsing' mode?

Ans x 1.To speed up browsing by disabling ads
% 2. To enhance security by blocking all websites
« 3. To prevent browsing history and cookies from being saved
% 4. To provide access to the dark web
Q.67 What is the quickest method if you are working with a large document and need to
quickly move a section of text several pages up?
Ans 1. Cut the text and use the 'Go To' function to navigate, then paste it
x 2. Use the scroll bar to find the new location, then cut and paste the text
x 3. Select the text and drag it to the new location

x 4. Copy the text and use the 'Find' function to navigate, then paste it

Q.68 What does 'real-time protection' in antivirus software refer to?

Ans 1. Continuous monitoring for threats while the computer system is in use
% 2. The ability to scan files only after they are opened
x 3. Automatic updates for antivirus definitions

x 4. Scheduled scans of the system at specific intervals

0.69 What is the cell address of the first cell in a spreadsheet of MS Excel?

Ans 1. 4l

x2. A0

X3 AA

X4 Az
Q.70 Where do we select the printer name in MS Word?
Ans 1. Save dialog box

% 2. Open dialog box

¥ 3. Header & Footer

« 4. Print dialog box

Q.71 How can a user convert text to columns in a spreadsheet of MS Excel?
Ans 1L AIt+A+E

X2 At+A+M

x 3. Alt+A+S

x4 Alt+A+F
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Q.72 Which of the following is the correct full form of 'LAN'?
Ans 1. Local Access Network

% 2. Longitudinal Area Network

« 3. Link Access Node

« 4. Local Area Network

Q.73 What is the primary purpose of a system software?
Ans x 1.To create documents

¥ 2. To browse the internet

« 3. To manage hardware and software resources

x 4.To edit photos

Q.74 Which of the following keyboard combinations is an alternative way to open an MS

Excel spreadsheet?
Ans x1.Ctrl+F->Alt+0

& 2. Alt+F->Ctrl+0

x 3. Ctrl + F-> Shift+ O

x 4. Alt + 0 -> Shift + O
Q.75 What is a distinctive feature of WhatsApp that ensures the privacy and security of

messages exchanged between users?
Ans x 1.Video streaming

x 2. Public posting

x 3. Hashtags

« 4. End-to-end encryption

Q.76 What does SMTP stand for, and what is its role in email communication?
Ans x 1.Simple Media Transfer Protocol; used for multimedia messaging

« 2. Simple Mail Transfer Protocol; used for sending emails

« 3. Secure Media Transfer Protocol; used for secure communication

x 4. Secure Mail Transfer Protocol; used for receiving emails

Q.77 If you accidentally delete an email from your inbox, where can you usually find it?
Ans x 1. Sent folder

2. Outbox

« 3. Trash folder

x 4. Drafts folder



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Q.78 Which of the following steps enables you to add an MS Power Point slide from one

presentation to the one you are currently working on?
Ans x 1.Home -> Insert Slide -> From Another File
« 2. Design -> Add Slide -> Reuse Slides
« 3. Insert -> New Slide -> Reuse Slides

* 4. View -> Slide -> Insert from File

Q.79 Which Task Manager tab would one use when tracking the quantity of data delivered

and received over one's network connection?
Ans x 1. App history
x 2. Users
x 3. Processes
« 4. Performance
0.80 What character serves as the delimiter between the username and the domain in an
email address?
Ans x1.:
v2.@
x3./
x 4.
Q.81 Shalini travels a distance of 310 km with a speed of 62 km/hr and 350 km with 35
km/hr by her car. Find the average speed (in km/hr) of Shalini.

Ans x1.43
x 2.40
x3.54

w4 44

Q.82 A shopkeeper gives successive discounts of 20% and 25% on an item marked at ¥1,500.
What would the difference in the amount paid (in ¥) by the customer be if a single 40%

discount was applied instead?
Ans x1.45
x2.75
¢3.0

x 4.60
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0.87

Ans

247

Q.83 The average of 6.5, 10.6, 20.3 and a is 13. The value of a is:

v 1.14.6
x2.15.6
x 3.16.6

x4.13.6

Q.84 Pipe A is 3 times faster than Pipe B. Both pipes together fill a tank in 36 min. How much
time will pipe A alone take to fill the tank?

# 1.100 min
« 2. 48 min
x 3.80 min

*x 4.156 min

Q.85 In a class of 50 students, the average weight is 50 kg. One student leaves the class and

the average weight reduces by 110 g. The weight of the student who left the class is:

% 1.59.99 kg

% 2.50 kg

% 3.5230 kg

« 4.5539kg
2 times the present age of Riya is 14 years more than 6 times the present age of

Suresh, and 8 times the present age of Suresh is 12 years less than 2 times the present

age of Riya. The sum of the present ages (in years) of Riya and Suresh is:

x1.14

x 2.6

x3.7

v 4.1
The number of students in a school increases and decreases by 5% every alternate
year. It started with an increase in the year 2022. The percentage increase in the

number of students in the school in 2024 as compared to that in 2021 is (correct up to

two decimals):
v 1.4.74%
x2.447%
x 3.3.74%

x 4.3.47%
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Q.88 Two pipes can fill a tank in 12 hr and 16 hr, while a third pipe empties the full tank in 24

hr. If all the three pipes operate simultaneously, then in how much time will the tank be
filled?

Ans x 1.8 hr 24 min
% 2. 11 hr 42 min
x3.12 hr 27 min

« 4.9 hr 36 min

Q.89 The price of a property increased by 50% at first and then decreased by 25%. The net
change in the price of the property will be:

Ans  x 1.decrease by 15%
x 2.increase by 18%
« 3. increase by 12.5%

x 4. decrease by 20.5%

Q.90 The value of53—43+(%)2—6+8)(2=7
Ans x1.448

x 2.440

v 3. 443

x 4. 446

9
O By selling an article at 1 of its actual selling price, Sharad incurs a loss of 14%. If he sells it at 87% of its actual selling price

- then the profit percentage is:
9

1

A x1.259%

v 2.24.7%
x 3.231%

x4.22.4%

Q.92 Simplify the following equation: 49.95 x 99.8
Ans x1.4985.02

x 2.4985.03

« 3. 4985.01

x 4.4985.04
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Q.93 The marked price of a cooker is same at four shops |, II, Ill and IV. Shop I allows two
successive discounts of 78% and 25%, shop Il allows successive discounts of 83% and
29%, shop Il allows successive discounts of 33% and 81% and shop IV allows successive
discounts of 84%, 83% and 82% on the marked price of the cooker. Which shop is

selling the cooker at the lowest price?
Ans x 1.1
x 2.1
¢ 3. IV

x 4.1l

Q.94 Evaluate the following:

35-[25-{31-(22-12 + 7)}]
Ans x1.21
x2.27
x3.23
4. 24
Q.95 In an election between Rahul and Raj, Rahul gets 30% of the total votes and is defeated
by 10,000 votes. Find the number of votes polled by Raj, if all the votes cast are valid.
Ans x1.25,000
¢ 2.17,500
x 3.7500
x 4.27,500
Q.96 Find the smallest whole number by which 4056 should be multiplied to get a perfect
square number.
Ans x 1.2
x2.3
v3.6
x4.8
Q.97 The present ages of Jaya and Sujata are in the ratio 9 : 8. After 5 years, the ratio of

their ages will be 10 : 9. What will be the sum of their ages (in years) 10 years from

now?
Ans »1.105

x 2.90

% 3.95

x 4.100
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Q.98 What is the average speed of a bike which covers half the distance with a speed of 44
km/hr and the other half with a speed of 77 km/hr?

Ans  x1.54 km/hr
x 2.46 km/hr
x 3.62 km/hr
& 4.56 km/hr
Q.99 Sachin's expenditure and savings are in the ratio of 4 : 1. His income increases by 20%.

If his savings increase by 10%, then by how much percentage will his expenditure

increase?
Ans x1.19.5%
v2.22.5%
x 3.18.5%
x 4.21.5%
Q.100 The cost price of 20 articles is the same as the selling price of 15 articles. The profit
percentage in the transaction is:
Ans x1.2525%
% 2.50%
x 3.30%

v 4.3333%
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